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1. The Candidate must write his/her Seat Number in ENGLISH.

2. Please note that the question paper-set in ENGLISH version is final for any
doubt in MARATHI paper.

3. Write each question on NEW Page.

Marr;kg
~_ 1.- (A) Select the most appropriate words from the following and complete the ~ (05)
statement :—
(1) Indian Major Occupation is ............... .
(a) Poultry (b) Fishery
(¢) Handicraft _(d) Agriculture.
(62) is Important means of Social Control.
N(a} Religion (b) Unity
(¢) Violence (d) Reservation.
(3) All are Biological drives except ..............
(a) Hunger (b) Respiration .
(¢) Thurst (d) Self-actualization.
_ (4) Laws of learning are given by ...............
(@) Binet (b) Thorndike
(¢) Sigmon fraud (d) Simon.
(5) The most Important characteristic of human being is their capacity
X U
(a) Learn and understand (b) grow
(c) Fight (d) Migrate.
(B) Match the following pairs :— (05)
‘A’ Group ‘¢ B’ Group

(1) Father of Sociology (a) Remand Home

(2) Familys (b) Cognitive Process
(3) Juvenile Delinquency, (¢) Indian Society
(d) Agust Comte

(e) Agency for Socialization

(4) Thinking
(5) Culture -~
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2.

3.

]

(C) State whether true or false —

(1) Nurses should not understand the drives and motives of her

patient.
(2) Dowry is not a Social problem. 7

(3) Emotion is strong motive. .

(4) Maslow’s Need theory say’s that Self-esteem is basic drive.

(5) Family budgeting is done on the basis of Eagle’s Law,

Write short notes (any three) :—
(a) Habit

(b) Family Budget

(c) Porsonality

(d) Defense Mechanism.

Give scientific reasons :—

(@) Man cannot live in isolation permanantly.
(b) A Nurse must be weladjusted person.

(¢) Body and mind are to sides of coin.

(d) Internal conflict is difficult to resolve.

(¢) Frustration affect on productivity of person.

. Answers the following questions :—

(a) Define Memory

(b) Write the types of memory

(¢) Write short term memory

(d) Write the Methods to improve memory.
OR

(@) Define mental Health

(b) Write the characteristics of mentally healthy person
(c) Define Learning

(d) Write the factors Influencing on Learning

. Answers the following questions :—

(@) Define Family

(b) Write the characteristics of family

(¢) Write the functions of family

(d) Write the dis-advantages of Neuclear family.

OR
(@) What is a child labour ?
(b) Write the problem of child labour.
(¢) Write the existing laws to prevent child labour.

(d) How will you Rehabilitate the child labour?
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